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Naming Compounds
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1. Name each element
2. The 2™ element ends in “ide”
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* if the 1* element is multivalent:

* a) Stock System (Roman Numerals)»T ) 11, TIT L V \VARRVARRAAUNY

J
|\ ’{g Fe,S; \ror\ ( L\\ su\ Dh de

L.ké._L.LC\\ \/ k(:'? Coppex ~ i) XA €

O (_;__\—~ R b) ous - lower valence

Aol ic - higher valence
~ — WD | ( [ N
MO 'l\\(_j[“ﬂ\ uF CUpDeo UsS 1(: lLLCAf\Cle.J
eg. CuF, oy C'ti)‘(‘ e Fluneiad €

¢) Prefix > MQY\C))Q\\ 9 -\—f'\) +€.\*ro\) Pev\‘\‘a/ \'\€<)(CL/ reo

2 non-metals N0, Aini HO?\ en tetroxide
. f"“ if the 1 element is an H and the compound is (aq), it's an acid
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¥ Peroxides — have OV\C.. Mot € thaun The, us el number of ox 4 qens

B. Three Elements €3. Ha0a Wy Araicien
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2. Therest is a polyatomic ion

Eg. NO,~ N rrate

1 more O than ‘ate’ - PEC nitrate
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2 less O than ‘ate’
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* keep in mind if the 1* element is multivalent
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* if the 1* element is an H, it's an acid
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C. Four Elements (Acid Salts)
1. Name the 1* element
2. The 2™ element is hydrogen
3. The rest is a polyatomic ion

eg. Na(HPO,) S odium mono hydroqen
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* keep in mind if the 1* element is multivalent

D. End With H,0O 2
1. Name the compound
2. Place the numerical prefix before “hydrate”

eg. ZnCO, - 3H,0 zince carloo V\CLJVG, i ‘!\Y C\FO\}‘Q/

Writing Formulas

* Break the compound down, keeping in mind: _
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A. Ifitendsin -ide — 2 elements
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eg. Lithium chloride L\ C_l
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eg. Calcium hydroxide CQ CC) H > 2

- ate, ite — 3 elements
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-eg. Copper (II) sulphate

B. Acids - H goes in front [ ¢29) follows]
- hydro....ic — 2 elements

eg. Hydrochloric acid \'\ Cl CC"\O‘I )

- .....c = 3 elements
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